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AT -1/ PART -1
a1 foere 9 s / CHILD DEVELOPMENT AND PEDAGOGY
fraer : frfafaa g9t & SR 39 & e @9@ SR fawed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.
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1.

Which of the following laws is not
related to heredity ?

1) Law of Similarity

2) Law of Variation

3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?
1) Koh's Block Design Test

2) Alexander's Pass Along Test

3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism

2) Stage of morality constraint

3) Stage of heteronomous morality
4) Stage of autonomous morality

Which of the following
characteristics is not related to the
concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

P.T.O.



[4/A]
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6. Which statement is not correct in
context of individual differences ?
1) Two persons are not exactly

same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual differences
distinguish individuals in their
totality.

4) Individual differences are the
sole result of heredity.

7. When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method
2) Whole method
3) Massed method
4) Incidental method

8. Which teaching maxim 1is not

beneficial for the Ilearning
disabled children ?

1) Simple to complex

2) Abstract to concrete

3) Direct to indirect

4) Known to unknown

9. Which of the following is not a

principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is
predictable.

3) Development follows linear
path.

4) Development proceeds from
general to specific.



10.

11.

12.

13.

g midsie & ogaR St @
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10.

11.

12.

13.

[5/A]

According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

1) Vygotsky

2) Piaget

3) Bruner

4) Hull

Which of the following is not a

common characteristic of social

development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping

3) Search for identity

4) Hero-worship

Which stages of Kohlberg's moral
development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) (@ & (b)

2) (®) & (o)

3) (@ & (d)

4) (© & (9

Learning through mental

processes like attention and

reflection is called :

1) Imitative learning

2) Motor learning

3) Cognitive learning

4) Aiffective learning

P.T.O.
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14.

15.

16.

11.

18.

Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip

2) Lecture

3) Experiment

4) Brain storming

In Pavlov's conditioning theory,

which factor does not positively

affect the conditioning between

natural and artificial stimuli ?

1) Appropriate timing of stimuli
presentation

2) Repetition of stimuli

3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher
4) Communication skills of teacher

Which of the following factor does

not influence the development of

child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

'Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response
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21.

22.

23.
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19.

20.

21.

22.

23.

[7/A]

Which of the following pair is not

correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson

2) Need Hierarchical Maslow
theory

3) Drive theory

4) Achievement
Motivation theory

Woodworth
Mc'Clelland

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for normal and
disabled children

4) Education for all children

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning

Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?
(a) Componential (b) Experiential
(c) Operational (d) Contextual
Choose the correct code :
Code :
1) (@), ®) & (c)
2) (b), (c) & (d)
3) (a), (D) & (d)
4) (@, (c) & (d)

P.T.O.
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24,

25.

26.

21.

gt Tiq & orfrmeRat & fow HE-an
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1) @

2) SUIRIHS e
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(b) T
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24.

25.

26.

21.

Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills

(b) Empathy

(c) Ego-centrism

(d) Stereotyping

Codes :

) @& @® 2)(b) & (@)

3) (@,(Md) & (©)4) (@), (c) & (d)

The true meaning of continuous

and comprehensive evaluation is :

(a) Taking frequent tests

(b) Taking continuous
appropriate intervals

(c) To evaluate scholastic and co-
scholastic both aspects

(d) Measuring only educational
achievements

Choose the correct code :

Code :

1) (b) & (d)

2) (b) &(o)

3) (), (b) &(c)

4) (), (©) &(d)

tests at

The education which promotes
learning by doing' and ensures the
students interaction with their
environment to learn, that is known as :
1) Special education

2) Progressive education

3) Integrated education

4) Inclusive education



28.

29.

30.

gfteatyg  femtil & R @m-H
e weEw AWl SN T8
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1) s qEdl

2) Sl fpare

3) fbew T
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(b) AT

(c)
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28.

29.

30.

[9/A]

Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the
following factors, which affects
learning :

(a) Motivation

(b) Aptitude

(c¢) Interest

(d) Attention

Code :

1) (©&(d)

2) (@), (d)&(d)

3) (@&(c)

4) (a), (D), (€) & (9)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2 /1206 ]

P.T.O.
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A (=) wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)
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fraer : i gl & SR 39 & e @98 S faee gim

31

32.

33.

34.

. AW 9= & d@¥g § @E-@ g
oGIT B 7
1) 998 - foma
2) forg - 4wy
3) THYY - aHH

o o

4) Tt - e

T H HH-G7 GHEIE ST
T § e ghfa 787 8 7

1) TSRO - Y YT
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4) TGS - o1 @) 9y
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3) FUS, &, D
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35.

36.

31.

38.

forq faehed &1 AT Qdehlicih fohaT
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1) TH GThY = T

2) T AW BT AT FE A R
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e
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43.

44.

45.

[11/A]
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P.T.O.
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[12/A]

it / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

46.

41.

48.

49.

Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?

2) Has the work been done ?

3) Had the work been done ?

4) Will the work be done ?

Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

Fill in the blank with the most
appropriate modal auxiliary :

Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2 / 1206 ]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
A) ®)

record held / by Bradman who

< @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy



53.

54.

55.

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

[13/A]

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoonas

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender
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HET- 1l / PART =1l
H A9 / GENERAL STUDIES

HETCTH A1gdl, e SATEHdT a9T G 9 U9 eI / Quantitative Aptitude, Reasoning
Ability and G. K. & Awareness

e Frfeied get % SR a9 & U qed SR e g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

A, 7@ R | uftem # 8 {5 e

g T @ oA 2 fPl Tem © g

¥ gEHK 5 fRl Toam s, F a8

JEAM fg & dedt § o9 e fRam

T feerd B 7

1) SRU-UREH  2) IOX-qiEm

3) I 4) eROT-gd

qg fE H 9 § 'PROJECT' &l

'CEOPRT' @1 'PLANE & 'ELNP'

ferEr ST 2, @ 'ORGANISED' &1 341

e W H e S foren S ?

1) ADEGIOSR 2) ADEGIROS

3) ADEGOIRS 4) ADEGIORS

Shl Hl Th U H, A SHEl T 9

79 @1 B @l @% § 12d @M W

g, AT I Wl § WER uREd

fpr sam &, @ A @ T T q

2231 I 8 S 5, O i A gA

qSH B G § ¢

1) 27 2) 3l

3) 33 4) 34

U% UK #, A, X % {1 8, B, Y &

AR, M X T Z H T Y &,

Frefafad ®esti & @ dH-a1 &

Fied &0 @ w2 78 &§ 7

1) B,A & Uil ©

2) B % % P B

3) X,AHER

4) Y,Z P 98T 8

& T JEar § 7o 6 © o
0,3,9, 12, 36, 39, 42, 120, 360

1) 12 2) 39

3) 42 4) 360
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61.

62.

63.

64.

65.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West 2) North-West

3) North-East 4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a
row ?

1) 27 2) 31

3) 33 4) 34

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A

2) B has adaughter

3) XisthesonofA

4) Y isthe sister of Z

Find the wrong number in the
given series :

0,3,9, 12, 36, 39, 42, 120, 360

1) 12 2) 39

3) 42 4) 360



66.

61.

68.

69.

10.

11.

afc A 3T RRem F 8 Rt SR @

et TWH ot 6 FpHl aaiar & ae
g SI-gd R H gee 10 6

aa?n% ar A IRt fog @ Reae

fg&w%?

1) 0 fret 2) 8

3) 10 fat 4) 12 fFH

Zri?maqﬁaﬁo‘&ﬁqﬂﬁem(j?ﬁ

q7 & § 8 9 @ B, ar Sl #e
% A9 HE A 12 BA A T A &
fou fopae Tl @l STasaeRar B8R ?

1) 6 2) 8
3) 10 4) 12

o1 D

1) 4 a9 2) 5 9
3) 6 I 4) 8
e U Eda 9gye H

1) 6 2) 9

3) 10 4) 12

q g erge A T B, dfer @
STEAT 1 STUIT AT 5 : 2 71 3 : 4
%,sqﬁraa@aﬁﬁ@rzwmzﬁo‘m
w@ B & 21 fF PR @ E B
oy S8 S 8, 3@ % My g A
H@HWWNIW\H@HIGW%?

1) 1:2 2) 2:1

3) 2:3 4) 1:1

A& 7 cosec 6 — 3 cot O = 7 &I O
goH =gl § &, @ 7 cot 6 - 3
cosecH & UM T :

1) 3
3) 3/1

2) 5
4) 5/1
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66.

61.

68.

69.

10.

11.

[15/A]

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm 2) 8km

3) 10km 4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6 2) 8
3) 10 4) 12

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4) 12

In two alloys A and B, the ratio of
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

1) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 0 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) 5

3) 3/1 4) 5/1

P.T.O.
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12,

13.

14,

15.

16.

11.

¢ T g ¥, T GHSTg BYer ABC
fafifed e s % ERSICHEII
gt © wed YEel § W aa
Pyt =i

1) fquHeTg Brgst

Uh GHMER, T a&) 15% M W
9T 3, 3N 399 39 18 TYY 3w
o 997 2dr, Ol A 18% & SN 39

I&] 1 F9 gA (39 H) B

1) 600 2) 540
3) 350 4) 380
Fretfeifed 2ot & Ja T © ¢
DBC, KIJ, QOP, _? ,ZXY
1) VUW 2) USV
3) UTV 4) VTU
a gNcTh SISl # ST} 3 8, I

STk N H AR 369 &, a I
el & QT B

1) 25 2) 21
3) 3l 4) 33

e & TH Anwd § e,
AR B 12 A JT AGA H 5

T B, @ AR IEH AVBA 36 &,
Y 2

1) 2706
3) 2796

2) 2736

4) 2766

Ik A ‘[9EeN @, B AN @Y, C
‘e &’ T D PN &’ TR
HA Z, AW20C 12B8A2D 6
ENELEESE

1) 16 2) 18

3) 32 4) 36
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12,

13.

14.

15.

16.

11.

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle

4) Right angled triangle

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540

3) 350 4) 380

The missing term of the following
series is:

DBC, KIJ, QOP, __? , ZXY
1) VUW 2) USV
3) UTV 4) VTU

The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbersis:
1) 25
3) 3l

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

1) 2706 2) 2736

3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A2 D 6 is
equal to :

1) 16 2) 18

3) 32 4) 36



18.

19.

80.

8l1.

82.

83.

84.

i

Th A 12 fhelHie &l gl 3
i ger, 18 fpaHie &l gl 9
gt g9eT qUT 24 feHie @ gl 4
Reeit ofd =var § 9 & &, @ FYol
g T F B AEd =9 B

1) 4 fFfi/Aver  2) 4.2 /AT
3) 4.4 [RHI/ATE 4) 4.5 AT /AT

it T fopedi § 9@ faww @ S
I

1) 2) g

3) R 4) Figl

it 16-4=2,9-3=2,81-3=4
B, 64—4 FH O B
1) 3 2) 2
3) 4 4) 6

1857 & fagle & M, e o

9 e Ueas H fofeyr foami W
STHHOT foBar ?

1) THIA A

2) M STl

3) HieX e

4) egE W

e @ A TRIeA B Ty ¥
1) SNEA JEdr |§

2) Rgha gur |

3) RHRE # S’ Y@ |

4) AT # ARG e d

sRaem & frg g &= #R R

g7

1) g 2) fiER
3) WoRS 4) ST
giamen # fehdHl qedid & 7
1) 95 2) 49
3) 143 4 74
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18.

19.

80.

8l.

82.

83.

84.

[17/A]

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed in
covering the whole distance is :

1) 4 km/hr
3) 4.4 km/hr

2) 4.2km/hr
4) 4.5km/hr

Find the odd word from the given
alternatives :
1) Violin
3) Guitar

2) Harp
4) TFlute

If16-4=2,9-3=2,81-3=4,
then the value of 64 — 4 is :

1) 3 2) 2

3) 4 4) 6

During the revolt of 1857, who
among the following attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range

2) Hindukush range

3) Outer range of Himalayas
4) Inner range of Himalayas

In Haryana, where the Vulture
Conservation Centre is located ?

1) Jind 2) Pinjore

3) Mahendragarh 4) Ambala

How many Tehsils are there in
Haryana ?
1) 95
3) 143

2) 49
4) 14

P.T.O.
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85.

86.

81.

88.

89.

90.

1) aNba
3) &

2) gMEq
4) IR

godlotdodio & A, S FHIK
§ gRarn & Touue a9 R

1) Sfo To R0 FFEag

2) o qIwR g S

3) i flo THo Tekadi

4) & HEEN UH

IqEad B B Pl SAEE IR
BECll d UiRAUT YA B BRAmm
THR BRI off W&l Jol ®

1) A BET A AN
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RO A0 & AW d AT & 7

1) STET 95 A
2) A1 NG Y
3) & AR A
4) SET QO ™

85.

86.

81.

88.

89.

90.

In which district of Haryana, the
Khelo India Women's Archery
ranking competition was organised ?
1) Sonipat
3) Karnal

2) Panipat
4) Yamunanagar

The UPSC Chairman, who
subsequently became the Governor
of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti
4) Shri Mahabir Prasad

The Scheme, which is being run by
the Haryana government to
replace paddy crop with more
tradition cropsis:

1) Meri Fasal Mera Byora

2) Meri Virasat

3) Mera Pani Meri Virasat

4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat

3) Panchkula

2) Ambala
4) Kurukshetra

Who is the Chief Information
Officer of Haryana ?

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath
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Direction : Answer the following questions by selecting the most appropriate option.

[19/A]

91.

92.

93.

94.

T 9 IER ¥ Mg | 9
T 9 BT ® ?

1) faR J6R & SISH S ST @
HELFEHM B A B &l

2) g A s geN, fate &R
e v @ & 2

3) BNl FlGSIMEG R |
AALIHRAS I Gt BT ol

4) IWEF a4l

fr=fofeg & @ 9-a1 999 & R]-
qiftes HE & ?
1) o &9 3R W) H T 2

2) 9o SR # ghs R foem
TEE HT B

3) AF X 3 FHahl B T
T B

4) 9IS HHIOT § AT DA

g oWy # Ak w@REEdr a
HT & WE (o 6 7

1) JeEmEeer  2) s
3) gaEEd 4) S

.......... T Yo Rafq B, o
Td THT T ST HET H AN T80
H T Bl R
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91.

92.

93.

94.

A balanced diet contains which of

the following ?

1) Different types of food that
fulfil the need of energy.

2) Food that has adequate
amount of protein, vitamins
and minerals.

3) Fulfils our psychological and
social needs.

4) All of the above

Which of the following is non-
nutritional function of food ?

1) Food is a symbol of wealth and
status.

2) Food helps in body growth and
development.

3) Food repairs body tissues.

4) Food protects against infections.

Achieving personal autonomy is a
major development task during
which period ?

1) Infancy 2) Adolescence
3) Adulthood 4) Ageing years

is a pathological state
resulting from the consumption of
an excessive quantity of food over
an extended period of time.

1) Wholesome diet

2) Overnutrition

3) Fortified food

4) Nutrient deficiency

P.T.O.
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95.

96.
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98.

99.
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1) T Ifaee

2) Ty

3) 1) X 2) A
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1) @, 799, g

2) @, T, T

3) A, SRR, ST

4) AR, "4, G
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1) I SR ST ST

2) 3G WIS T8O HLAT QAT

3) AW WM W I HIAT HiE T

4) IWF a4l
foeprTH P H STauRen & § ¢

1) 9L MEEH A
2) ae fFe 9
3) WIS A

4) 9 e |

Ao, W T@l SR S o,
STFRT T W qur AT 9 HEy

G CEIE N IR FeT S 2
) @™ @ 2) P
3) TN 4) IER
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95.

96.

91.

98.

99.

The developmental process in which
a child becomes sexually mature
individual is known as .......... .

1) Puberty

2) Activity

3) Both 1) and 2)

4) None of the above

Ikebana style of flower arrangement
is based on which three principles ?
1) Heaven, Man, Earth

2) Heaven, Man, Nature

3) Mind, Body, Soul

4) Body, Mind, Structure

Which of the following is the

developmental task during infancy ?

1) Learning to walk & talk

2) Learning to take solid foods

3) Learning to control elimination
of body waste

4) All of the above

The concept
tasks has been given by :

1) Robert Einstein

2) Robert Havighurst
3) Freud

4) ]Jean Piaget

of developmental

The science of foods, the nutrients
and their action, interaction and
relationship to health and disease
is called ........... .

1) Eatables
3) Nutrition

2) Agriculture
4) Diet



100.

101.
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100.

101.

102.

103.

[21/A]

Which of the following statement is

incorrect ?

1) Use both hands in unison.

2) Follow body mechanics while
working.

3) Avoid using rhythmic motion.

4) Improve skills in any work to
be carried out.

Which fibre is obtained from the
stalk of the flax plant ?

1) Wool
2) Silk
3) Linen

4) Viscose

The following is true for parental

nutrition ?

1) Provision of nutritional
supplements to patients who
require nutritional support.

2) Prevents starvation and helps
to save lives.

3) It can be provided through
peripheral or central veins.

4) All options are correct.

The goal of medical nutrition
therapy for both Type I and Type II
Diabetes mellitus is :

1) Maintenance of proper nutrition
2) Total calorie intake

3) Distribution of
throughout the day

calories

4) All options are correct

P.T.O.
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104.
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1017.
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104.

105.

106.

1017.

What is the correct order of 'steps

of management' ?

1) Planning — Organizing —
Controlling — Evaluation

2) Organizing — Planning —
Controlling — Evaluation

3) Planning — Controlling —
Organizing — Evaluation

4) Controlling — Planning —
Organizing — Evaluation

Which of the following statement is
incorrect ?

1) Food is the source of all the
nutrients that is required to
remain healthy.

2) Food is basic to our survival as
it satisfies hunger.

3) Foods vary widely in their
nutritive value.

4) Nutrition is all about decoration
of food.

The following is an example of
routine hospital diet :

1) Clean fluid diet and soft diet
2) Fried food

3) Fast food

4) Food high in refined carbs

Work simplification means, which

of the following ?

1) Use of simple
method of working.

and easy

2) To accomplish maximum work
within given time.

3) Spending minimum time and
energy to accomplish a work.

4) All of the above



108.
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1) &HEH

2) B

3) URE=RYT ¥
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3) @Al | =
4) IWEF a4l
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108.

109.

110.

111.

112.

[23/A]

Development of antibodies in
response to an antigen or
exposure to an infectious disease
results in :

1) Innate Immunity

2) Active Immunity

3) Cell Mediated Immunity

4) All options are incorrect

Which of the following is a water
soluble vitamin ?

1) Thiamine

2) Omega 3 fatty acid

3) Copper

4) Vitamin K

The relation between rooms is
known as :

1) Roominess

2) Functionalism

3) Circulation Path

4) Grouping of rooms

Protection and justice from unfair
means and practices of business
community to the consumers is

2) Consumer Protection Act, 1986

3) Agriculture Produce Marketing
Act, 1997

4) Farmer's Rights Act, 2001

The problems faced by consumers
are :

1) Adulteration of goods

2) Supply of duplicate and
defective goods

3) Variation in prices
4) All of the above

P.T.O.
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113.

114.

115.

116.

1117.

118.

Aliphatic polyamide is used to
make which fibre ?

2) Cotton

4) Nylon

1) Linen
3) Rayon

Service plan and elevation are
drawn on which scale respectively ?

1) 1:850and 1:200

2) 1:200and 1:150
3) 1:200and 1:100
4) 1:100and 1:200

Dietary management for a patient
suffering from cardiovascular disease
involves the following principles :

1) Low calorie

2) Low saturated fat, high PUFA
3) Normal protein

4) All options are correct

The capacity of reflective thinking
emerges between which age ?

1) 20sto25s 2) 30sto 40s
3) 45sto50s 4) 50sto 55s

What are the 3-R's
Management ?

in Waste

1) Reduce, Rationalize and Report
2) Reduce, Reuse and Recycle
3) Reuse, Reject and Rebuke

4) Recycle, Reject and Repent

Flavonoids and Isoflavones come
in which category ?

1) Vitamins

2) Carbohydrates

3) Phytochemicals

4) None of the above
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119.

120.

121.

122.

123.

[25/A]

Values, Standards and Goals :
1) do not help in management

2) should be overlooked while

planning any work

3) are the motivating factors in

management

4) None of the above

The fibre which has a mineral

originis:
1) Asbestos 2) Silk
3) Flax 4) Acrylic

What is the full form of RDA ?

1) Recommended Dietary Awareness
2) Recommended Dietary Allowance
3) Recommended Daily Allowance

4) Recommended Diet for Adults

........... refers to a period of life
during which much of behaviour is
dominated by a particular quality
of thinking or a mode of behaviour.

1) Understanding
2) Social Status
3) Socialization

4) Developmental Stage

Growth proceeds outwards from
central axis of the body to
periphery is called :

1) Proximodistal principle
2) Cephalo-caudal principle
3) Sequence

4) Orderly process

P.T.O.
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Time is a fleeting, limited and
........... human resource.

1) Intangible 2) Tangible
3) Transferable 4) Easy

Mohair has very good resistance
power and has a high degree
of ........ .

1) Lustre

2) Resiliency

3) Adaptability to other yarns
4) All of the above

A heavy jacquard type fabric with
an all over raised pattern or floral
designis called ........... .

1) Chiffon 2) Canvas

3) Denim 4) Brocade

Beriberi is caused by deficiency of :
1) Cobalamine 2) Thiamine
3) Niacin 4) Vitamin C

What is a visual guide of food
groups, divided into sections to
show the recommended intake for
each food group known as ?

1) Food Pyramid

2) Menu Card

3) Flash Card

4) None of the above

What are double ikat silk clothes
of India called ?
1) Bandhej
3) Jamdani

2) Patola
4) Kantha

Emergence of major body structure
and organs occur in which stage ?

1) Fertilization 2) Zygote
3) Embryo 4) Infancy
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133.

134.

135.

[27/A]

Thiamine, Niacin, Folate and
vitamin Bg help in .......... .

1) Maintenance of bone health

2) Immunity development

3) Energy metabolism

4) Both 1) and 3)

When the bones are broken into
many pieces and soft tissues are also
severely damaged itis called....... .
1) Complex fracture

2) Simple fracture

3) Tissue injury

4) Bleeding

Pipli village in Odisha is famous
for which handicraft ?

1) Batik

2) Chikan work
3) Applique work
4) Phulkari work

If there is a blood stain on cloth,
what should be done ?

1) Soak in cold water, then in
dilute ammonia and wash.

2) Pour hot boiling water and wash.

3) Rub hot water and wash with
warm water.

4) All of the above

............ is a form of floor decoration
which is popular in Bengal and

Assam.

1) Freehand 2) Alpana

3) Sathya 4) Mugullu
P.T.O.
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131.
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139.

140.

First aid for bleeding includes
which of the following ?

1) Move the patient as little as
possible

2) Stop external bleeding by
applying pressure to the wound

3) Apply a compression bandage
4) All of the above

Which of the following statement is
not correct ?

1) Development reflects both
continuity and discontinuity

2) Development proceeds from
general to specific

3) Development is not a life long
process

4) Development is cumulative

Energy means ability of a person
todo .....cvueneenn

1) Physical work

2) Psychological work

3) Mental work

4) Both Physical and Mental work

Weak bones, brownish stains on
teeth, weakened tooth structure are
caused because of which nutrient
excess ?

1) Vitamins
3) Sugar

2) Mineral
4) TFluoride

Which of the following factors are
important while meal planning ?

1) Family composition and family
traditions

2) Food cost and availability
3) Occupation and life style
4) All of the above



141.

142.

143.

144.

145.

Frfoag & & b9 9I9e o &l HAl
T omfoadt sfamos 2t ® ?

1) SR 2) foafte A
3) WeH 4) AAENA

frafofag & @ e Ay @ #ew
PIESX I Rl ®Y § wolg fRaAr ST
qepel & 7

1) SmHiEfeT

2) HHUEAIH

3) AENEINH ol amifwufeT

4) IR

AatE (T8) Fefafea & 4 e
fe s fremee & 7

1) &

2) T

3) HaEN

4) ST H 9 HE T

aMa A STl # S HI SR
g s & [ g, A9 oY
S TR & §/ Gedl & dwh
HETIT & e FEl Sl Bl

1) B SHTH

2) ST

3) 89 AHe

4) MeFe fEamgh

............ ufadl & wem | S
AR fopam gl S 21

1) &feror 2) @l

3) FHEER 4) oot

[ Level-2 /1206 ]

141.

142.

143.

144.

145.

[29/A]

The deficiency of which of the
following nutrient causes irreversible
blindness ?
1) Iron

3) Protein

2) Vitamin A
4) Iodine

Cotton fibre can permanently be
strengthened by which of the
following methods ?

1) Ammoniating
2) Mercerization
3) Mercerization and Ammoniating

4) Starching

Molasses is the adulterant used for
which of the following ?

1) Curd
2) Honey
3) Butter

4) None of the above

The scientific study of the relation
between man, machine and his

environment to make man-

machine system more efficient and
safe is called .......... .

1) Home Economics
2) Ergonomics
3) Home Management

4) Product Designing

The feeling of restlessness and action
is indicated through ............ lines.

2) Vertical
4) Diagonal

1) Horizontal
3) Curved

P.T.O.
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.......... involves changes in body
parts as well as in overall structure

and weight.

1) Series

2) Growth

3) Maturation

4) Individual performance

Which statement is correct ?

1) Time management is a system
of controlling and using time

effectively.

2) Time management helps you
to use your time to accomplish

what you want.
3) Both 1) and 2)
4) Only 2)

It is a form of embroidery of ........... ,
in which dense silk embroidery is
done using darn stitch.

1) Brocade 2) Phulkari

3) Kanjiwaram 4) Chikankari

Time has no independent existence
apart from the order of .............
by which we measure it. (Albert

Einstein)

1) Sequence 2) Motion

3) Activity 4) Events

A wall hanging is a ............ type

of accessory.
1) Decorative 2) Useful

3) Functional 4) TUtilitarian
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% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.
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given in the Question Booklet/Answer Sheet in the Signature Chart.
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textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.
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Admit Card [Roll No.] and identity card to the Invigilator.
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twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.
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Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.
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under any circumstances.
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